FOURIER-CHEBYSHEV COEFFICIENTS AND GAUSS-TURÁN QUADRATURE WITH CHEBYSHEV WEIGHT*1)

Shijun Yang[†] Xinghua Wang (Department of Mathematics, Zhejiang University, Hangzhou 310028, China)

Abstract

The main purpose of this paper is to derive an explicit expression for Fourier-Chebyshev coefficient $A_{kn}(f) = \frac{2}{\pi} \int_{-1}^{1} f(x) T_{kn}(x) \frac{dx}{\sqrt{1-x^2}}, k, n \in \mathcal{N}_0$, which is initiated by L.Gori and C.A.Micchelli.

Key words: Fourier-Chebyshev coefficient, Gauss-Turán quadrature

1. Introduction

Throughout this paper let x_1, \dots, x_n be zeros of the Chebyshev polynomial of first kind $T_n(x) = \cos(n\arccos x), |x| \le 1$ and $\mathcal N$ the set of the natural numbers. Let the points ξ_1, \dots, ξ_n be arbitrary and $\mathcal P_k$ the space of all polynomials of degree $\le k$, then there exist weights $\lambda_1, \dots, \lambda_n$ such that the numerical quadrature of the type

$$\int_{-1}^{1} f(x)dx = \sum_{i=1}^{n} \lambda_{i} f(\xi_{i})$$
 (1)

is exact for $f \in \mathcal{P}_{n-1}$. But it is exact for $f \in \mathcal{P}_{2n-1}$ if the points $\xi_1, ..., \xi_n$ are the zeros of the Legendre polynomial of degree n. Moreover, there is no quadrature using a linear combination of n values of f such that Eq.(1) holds for all polynomials of degree 2n. This classical result is the well-known Gauss-Legendre quadrature. Because of the above theorem of Gauss it is natural to ask whether the points $\xi_1, ..., \xi_n$ can be chosen so that quadrature rules of the form

$$\int_{-1}^{1} f(x)w(x)dx = \sum_{i=1}^{n} \sum_{j=0}^{2s} \lambda_{ij} f^{(j)}(\xi_i)$$
 (2)

will be exact for all $f \in \mathcal{P}_{2(s+1)n-1}$, where w(x) is a weight function. In his interesting paper [13], Turán showed that the answer is positive. Moreover, he showed that the n zeros $\xi_1, ..., \xi_n$ of the monic polynomials of degree n minimizing the expression

$$\int_{-1}^{1} |p(x)|^{2s+2} w(x) dx \tag{3}$$

over all such polynomials gives a quadrature of maximum degree of accuracy,

$$\int_{-1}^{1} f(x)w(x)dx = \sum_{i=1}^{n} \lambda_{i} f(\xi_{i}), \qquad f \in \mathcal{P}_{2(s+1)n-1}.$$
 (4)

As Turán pointed out in [14], particularly interesting is the case when

$$w(x) = (1 - x^2)^{-\frac{1}{2}}. (5)$$

^{*} Received November 9, 2000.

This work was supported by the China State Major Key Project for Basic Research(No.G19990328) and the Zhejiang Provincial Natural Science Foundation.

[†] Email address: yang2002@hzcnc.com.

190 S. YANG AND X. WANG

In 1930, S.Bernstein [1] showed that $2^{1-n}T_n(x)$ minimizes all integrals of the type

$$\int_{-1}^{1} \frac{|p_n(x)|^k}{\sqrt{1-x^2}} dx, \qquad k \in \mathcal{N}. \tag{6}$$

So the Turán-Chebyshev formula

$$\int_{-1}^{1} \frac{f(x)}{\sqrt{1-x^2}} dx = \sum_{i=1}^{n} \sum_{j=0}^{2s} \lambda_{ij} f^{(j)}(x_{in})$$
 (7)

with $x_i = \cos \frac{(2i-1)\pi}{2n}$, i = 1, ..., n, is exact for $f \in \mathcal{P}_{2(s+1)n-1}$. Turán [14] has raised **Problem 26**. Give an explicit formula for λ_{ij} and determine its asymptotic behavior as

In this regard, Micchelli and Rivlin [6] have proved the following

$$\int_{-1}^{1} \frac{f(x)}{\sqrt{1-x^2}} dx = \frac{\pi}{n} \left\{ \sum_{i=1}^{n} f(x_i) + \sum_{j=1}^{s} \frac{1}{2j4^{jn}} {2j \choose j} f'[x_1^{2j}, ..., x_n^{2j}] \right\}, \tag{8}$$

where $f[x_1^{2j},...,x_n^{2j}]$ designates the divided difference of the function f with each x_i repeated 2j times. For related work, see [5],[7]-[11] and references cited therein. Recently, Gori and Micchelli [3] considered the class \mathcal{W}_n of weight functions to consist of all nonnegative integrable functions w on [-1,1] such that

$$w\sqrt{1-x^2} = \sum_{k=0}^{\infty} {'} \rho_k T_{2kn}(x), \tag{9}$$

where the prime on the summation indicates that the term corresponding to k=0 is halved. Accordingly, for every $w \in \mathcal{W}_n$ and $f \in C[-1,1]$ we have

$$\int_{-1}^{1} f(x)w(x)dx = \frac{\pi}{2} \sum_{k=0}^{\infty} \rho_k A_{2kn}(f), \qquad (10)$$

where

$$A_n(f) = \frac{2}{\pi} \int_{-1}^1 f(x) T_n(x) \frac{dx}{\sqrt{1 - x^2}}.$$
 (11)

Thus formula (10), and consequently (7), reduces to explicit expression for $A_{2kn}(f)$. Gori and Micchelli [3] obtained

Theorem A Let $j, k, s \in \mathcal{N}_0, \forall f \in \mathcal{P}_{2(s+1)n-1}$. Then

$$A_{2kn}(f) = \sum_{i=0}^{s} H_{kj} f'[x_1^{2j}, ..., x_n^{2j}],$$
(12)

where H_{kj} is implicitly defined by the following formal power series for $j, k \geq 1, |z| < 4^{n-1}$,

$$\sum_{j=1}^{\infty} H_{kj} j z^j = n^{-1} 4^{(n-1)k} z^{-k} (1 - \sqrt{1 - 4^{-n+1} z})^{2k} (1 - 4^{-n+1} z)^{-\frac{1}{2}}, \tag{13}$$

for $k = 0, j \ge 1$,

$$\sum_{j=1}^{\infty} H_{0j} j z^j = n^{-1} ((1 - 4^{-n+1} z)^{-\frac{1}{2}} - 1), \qquad |z| < 4^{n-1}, \tag{14}$$

$$H_{00} = \frac{2}{n}, \tag{15}$$

$$k \ge 1, H_{k0} = 0.$$
 (16)

Theorem B Let $j, k, s \in \mathcal{N}_0, \forall f \in \mathcal{P}_{(2s+3)n-1}$,

$$A_{(2k+1)n}(f) = \frac{2}{n} \sum_{i=0}^{s} \hat{H}_{kj} f'[x_1^{2j+1}, \dots x_n^{2j+1}], \tag{17}$$

where \hat{H}_{kj} is defined by

$$\sum_{i=0}^{\infty} \hat{H}_{kj}(2j+1)z^{j} = \frac{2^{n}}{n}4^{(n-1)k}z^{-k-1}(1-\sqrt{1-4^{-n+1}z})^{2k+1}(1-4^{-n+1}z)^{-\frac{1}{2}},$$

if $|z| < 4^{n-1}$.

Two special cases, i.e., $A_0(f)$ and $A_n(f)$ were considered by Bojanov [2]. As we see, it is not very convenient to use Theorems A and B because the coefficients H_{kj} for $A_{2kn}(f)$ and \hat{H}_{kj} for $A_{(2k+1)n}(f)$ are implicitly defined. The purpose of this paper is to find explicit expression for all $A_{kn}(f), k \in \mathcal{N}_0$. Following the way and main idea used in [2], we give a simple and unified approach to this question.

2. Main Result

Now we state our main results.

Theorem Let $j, k, s \in \mathcal{N}_0$, then $\forall f \in \mathcal{P}_{(2s+k+2)n-1}$.

$$A_{kn}(f) = \frac{2}{\pi} \int_{-1}^{1} f(x) T_{kn}(x) \frac{dx}{\sqrt{1 - x^2}}$$

$$= \frac{2}{n} \Big\{ \sum_{i=1}^{n} \frac{1}{2^{kn}} f[x_1^k, ..., x_{i-1}^k, x_i^{k+1}, x_{i+1}^k, ..., x_n^k] + \sum_{i=1}^{s} \frac{1}{(2j+k)2^{(2j+k)n}} {2j+k \choose j} f'[x_1^{2j+k}, ..., x_n^{2j+k}] \Big\},$$
(18)

Corllary If $k > 0, \forall f \in \mathcal{P}_{(2s+k+2)n-1}$, we have

$$A_{kn}(f) = \frac{2}{n} \sum_{j=0}^{s} \frac{1}{(2j+k)2^{(2j+k)n}} {2j+k \choose j} f'[x_1^{2j+k}, ..., x_n^{2j+k}],$$
(19)

and $\forall f \in \mathcal{P}_{2(s+1)n-1}$,

$$A_0(f) = \frac{2}{n} \left\{ \sum_{i=1}^n f(x_i) + \sum_{j=1}^s \frac{1}{2j4^{jn}} {2j \choose j} f'[x_1^{2j}, ..., x_n^{2j}] \right\}.$$
 (20)

Remark. Note that Corollary 2.2 can be easily derived from (18).

In order to state our next result we need some more notation:

$$\omega_n(x) = \prod_{i=1}^n (x - x_i) = 2^{1-n} T_n(x),$$

$$l_i(x) = \frac{\omega_n(x)}{\omega'_n(x_i)(x - x_i)}, \quad i = 1, 2, ..., n.$$
(21)

According to [12], let $j \in \mathcal{N}$,

$$b_{lij} = \frac{1}{l!} (l_i(x)^{-j})_{x=x_i}^{(l)}, \quad l = 0, 1, ...; i = 1, 2, ..., n.$$
(22)

Obviously,

$$\omega'_n(x_i) = 2^{1-n}(-1)^{i-1}n(1-x_i^2)^{-\frac{1}{2}}, \quad i = 1, 2, ..., n.$$

If we expand the second term in the right-hand side of $A_0(f)$ in (20) by proposition 96 of

192 S. YANG AND X. WANG

chapter 4(P.235) in [15], we easily obtain

$$\begin{split} &\int_{-1}^{1} f(x) \frac{dx}{\sqrt{1-x^2}} \\ &= \frac{\pi}{n} \sum_{i=1}^{n} f(x_i) + \frac{\pi}{n} \sum_{j=1}^{s} \frac{1}{2j4^{jn}} \binom{2j}{j} f'[x_1^{2j}, ..., x_n^{2j}] \\ &= \frac{\pi}{n} \sum_{i=1}^{n} \left\{ f(x_i) + \sum_{j=1}^{s} \frac{(1-x_i^2)^j}{4^j(j!)^2 n^{2j}} (l_i(x)^{-2j} f'(x))_{x=x_i}^{(2j-1)} \right\} \\ &= \frac{\pi}{n} \sum_{i=1}^{n} \left\{ f(x_i) + \sum_{j=1}^{s} \sum_{l=0}^{2j-1} \frac{(2j-1)!(1-x_i^2)^j}{l!((2j)!!)^2 n^{2j}} b_{2j-l-1,i,2j} f^{(l+1)}(x_i) \right\} \\ &= \frac{\pi}{n} \sum_{i=1}^{n} \left\{ f(x_i) + \sum_{j=1}^{s} \sum_{l=1}^{2j} \frac{(2j-1)!(1-x_i^2)^j}{(l-1)!((2j)!!)^2 n^{2j}} b_{2j-l,i,2j} f^{(l)}(x_i) \right\} \\ &= \frac{\pi}{n} \sum_{i=1}^{n} \left\{ f(x_i) + \sum_{l=1}^{2s} (\frac{1}{(l-1)!} \sum_{j=\lceil \frac{l+1}{2} \rceil}^{s} \frac{(2j-1)!(1-x_i^2)^j}{((2j)!!)^2 n^{2j}} b_{2j-l,i,2j}) f^{(l)}(x_i) \right\}, \end{split}$$

which is a main result in [9]. Similarly, it is not hard to derive Theorems 3 and 4 from Theorem 5 in [8].

3. Proof of our main result

To prove our main result, we need the following auxiliary lemmas.

Lemma 3.1^[2]. Let f(x) be sufficiently differentiable on [a, b], $m \in \mathcal{N}$, then

$$m\sum_{i=1}^{n} f[x_1^m, ..., x_{i-1}^m, x_i^{m+1}, x_{i+1}^m, ..., x_n^m] = f'[x_1^m, ..., x_n^m].$$
(23)

Lemma 3.2. Let $k > j \in \mathcal{N}_0$, then

$$\int_{-1}^{1} T_n^j(x) T_{kn}(x) \frac{dx}{\sqrt{1-x^2}} = 0.$$

Proof. $T_n^j(x) \in \mathcal{P}_{jn}, j < k$, and orthogonality prove the result.

Lemma 3.3^[2]. If $j \in \mathcal{N}_0$, then

$$\int_{-1}^{1} T_n^{2j+1}(x) \Omega_{n-1}(x) \frac{dx}{\sqrt{1-x^2}} = 0, \quad \forall \Omega_{n-1} \in \mathcal{P}_{n-1}.$$

Lemma 3.4. Let $j, k \in \mathcal{N}_0$ and j + k be odd, then

$$\int_{-1}^{1} T_n^j(x) T_{kn}(x) \Omega_{n-1}(x) \frac{dx}{\sqrt{1-x^2}} = 0, \qquad \forall \Omega_{n-1} \in \mathcal{P}_{n-1}.$$
 (24)

Proof. Observing $T_{kn}(x) = T_k(T_n(x))$ and recalling the expansion of $T_k(x)$, we see that $T_{kn}(x)$, a polynomial of degree k in $T_n(x)$, has only power terms of $T_n(x)$ of degrees with the same oddity as k. Noticing that k+j is odd, we conclude that the expansion of $T_n^j(x)T_{kn}(x)$ has only odd power terms of $T_n(x)$. Hence (24) follows from Lemma 3.3.

Lemma 3.5. If $j, k \in \mathcal{N}_0$, then

$$\int_{-1}^{1} T_n^{2j+k}(x) T_{kn}(x) \frac{dx}{\sqrt{1-x^2}} = \frac{\pi}{2^{2j+k}} \binom{2j+k}{j}.$$
 (25)

Proof. By making the change of variable $x = \cos \theta$, we get

$$\int_{-1}^{1} T_n^{2j+k}(x) T_{kn}(x) \frac{dx}{\sqrt{1-x^2}} = \int_{0}^{\pi} \cos^{2j+k} n\theta \cos kn\theta d\theta$$

$$= \frac{1}{n} \int_{0}^{n\pi} \cos^{2j+k} \theta \cos k\theta d\theta = \frac{1}{n} \sum_{i=0}^{n-1} \int_{i\pi}^{(i+1)\pi} \cos^{2j+k} \theta \cos k\theta d\theta$$

$$= \int_{0}^{\pi} \cos^{2j+k} \theta \cos k\theta d\theta = \frac{\pi}{2^{2j+k}} \binom{2j+k}{j}.$$

The last equality can be found in [4](see Formula 3.631.17 on P.374).

Lemma 3.6. If $j, k \in \mathcal{N}_0, v \in \mathcal{N}$ and $v \leq 2n-1$, then

$$\int_{-1}^{1} T_n^{2j+k}(x) T_{kn}(x) T_v(x) \frac{dx}{\sqrt{1-x^2}} = 0.$$
 (26)

Proof. It is not very hard to check that

$$T_n^{2j+k}(x)T_{kn}(x) = \sum_{i=0}^{j+k} \alpha_i T_n^{2i}(x) = \sum_{i=0}^{j+k} \beta_i T_{2in}(x)$$
 (27)

for $\alpha_i's$ and $\beta_i's$ being constant. Now Eq.(26) follows from Eq.(27) and orthogonality.

Lemma 3.7. If $j, k \in \mathcal{N}_0$, then

$$\int_{-1}^{1} T_n^{2j+k}(x) T_{kn}(x) l_i(x) \frac{dx}{\sqrt{1-x^2}} = \frac{\pi}{2^{2j+k} n} {2j+k \choose j}, \qquad i = 1, ..., n.$$
 (28)

Proof. First note that $l_i(x)$ can be rewritten as

$$l_i(x) = \frac{1}{n} + \sum_{v=1}^{n-1} \gamma_v T_v(x), \tag{29}$$

where $\gamma_v's$ are constant. According to Eq.(29), Eq. (25) and Eq.(26) , we obtain

$$\begin{split} &\int_{-1}^{1} T_{n}^{2j+k}(x) T_{kn}(x) l_{i}(x) \frac{dx}{\sqrt{1-x^{2}}} \\ &= \frac{1}{n} \int_{-1}^{1} T_{n}^{2j+k}(x) T_{kn}(x) \frac{dx}{\sqrt{1-x^{2}}} + \sum_{v=1}^{n-1} \gamma_{v} \int_{-1}^{1} T_{n}^{2j+k}(x) T_{kn}(x) T_{v}(x) \frac{dx}{\sqrt{1-x^{2}}} \\ &= \frac{\pi}{2^{2j+k} n} \binom{2j+k}{j}. \end{split}$$

Lemma 3.8^[2]. If f(x) is sufficiently differentiable on [a,b] and $m \in \mathcal{N}$, then

$$f(x) = \sum_{i=1}^{n} \sum_{v=0}^{m} f[x_1^v, ..., x_{i-1}^v, x_i^{v+1}, x_{i+1}^v, ..., x_n^v] \omega_n^v(x) l_i(x)$$

$$+ f[x_1^{m+1}, ..., x_n^{m+1}, x] \omega_n^{m+1}(x).$$
(30)

Proof of the Theorem

Proof. Multiplying both sides of (30) by $T_{kn}(x)$ and then integrating from -1 to 1 with respect to weight $\frac{dx}{\sqrt{1-x^2}}$, we obtain from Lemma 3.2 and also the fact $\omega_n(x) = 2^{1-n}T_n(x)$ that

$$\frac{\pi}{2} A_{kn}(f) = \int_{-1}^{1} f(x) T_{kn}(x) \frac{dx}{\sqrt{1 - x^2}}
= \sum_{i=1}^{n} \sum_{v=k}^{m} 2^{v(1-n)} f[x_1^v, ..., x_{i-1}^v, x_i^{v+1}, x_{i+1}^v, ..., x_n^v] \int_{-1}^{1} T_n^v(x) T_{kn}(x) l_i(x) \frac{dx}{\sqrt{1 - x^2}} + R_{m+1}(f)
\equiv I_1 + R_{m+1}(f),$$

194 S. YANG AND X. WANG

where

$$R_{m+1}(f) = 2^{(m+1)(1-n)} \int_{-1}^{1} f[x_1^{m+1}, ..., x_n^{m+1}, x] T_n^{m+1}(x) T_{kn}(x) \frac{dx}{\sqrt{1-x^2}}.$$

According to Lemma 3.4, all but the terms such as $v=2j+k, k\in\mathcal{N}_0$ in I_1 are equal to zero. So without loss of generality, we suppose that $m=2s+k, s\in\mathcal{N}_0$. It follows from Lemma 3.7 that

$$\begin{split} I_1 &= \sum_{i=1}^n \sum_{j=0}^s 2^{(2j+k)(1-n)} f[x_1^{2j+k}, ..., x_{i-1}^{2j+k}, x_i^{2j+k+1}, x_{i+1}^{2j+k}, ..., x_n^{2j+k}] \\ &\times \int_{-1}^1 T_n^{2j+k}(x) T_{kn}(x) l_i(x) \frac{dx}{\sqrt{1-x^2}} \\ &= \frac{\pi}{n} \sum_{j=0}^s \sum_{i=1}^n \frac{1}{2^{(2j+k)n}} \binom{2j+k}{j} f[x_1^{2j+k}, ..., x_{i-1}^{2j+k}, x_i^{2j+k+1}, x_{i+1}^{2j+k}, ..., x_n^{2j+k}]. \end{split}$$

Dividing $\sum_{j=0}^{s}$ into j=0 and $\sum_{j=1}^{s}$, simplified by Lemma 3.1,we obtain the desired formula as claimed.

Next, we consider $R_{m+1}(f) = R_{2s+k+1}(f)$. It is easy to check that $f[x_1^{2s+k+1}, ..., x_n^{2s+k+1}, x] \in \mathcal{P}_{n-1}$, since $f \in \mathcal{P}_{(2s+k+2)n-1}$. And therefore $R_{2s+k+1}(f) = 0$ follows from Lemma 3.4.

Acknowledgment. The authors would like to express our gratitude to the anonymous referee for his valuable comments on improving the original manuscript.

References

- S.N.Bernstein, Sur les polynômes orthogonaux relatifs à un segment fini, J. Math. Pures Appl., 9(1930), 127-177.
- B.Bojanov, On a quadrature formula of Micchelli and Rivlin, J. of Computational and Applied Mathematics, 70(1996), 349-356.
- [3] L. Gori and C. A. Micchelli, On weight functions which admit explicit Gauss-Turán quadrature formula, Math. of computation, 65(1996), 335-353.
- [4] I.S.Gradshteyn and I.M. Ryzhik, Table of Integrals, Series, and Products. New York Academic Press, 1980.
- [5] O.Kis, Remark on mechanical quadrature(Russian), Acta Math. Acad. Sci. Hungar., 8(1957), 473-476
- [6] C.A.Micchelli and T.J.Rivlin, Turán formulae and highest precision quadrature rules for Chebyshev coefficients, IBM J. Res. Develop., 16(1972), 372-379.
- [7] G.V.Milovanović, Constuction of s-orthogonal polynomials and Turán quadrature formulae,in: *Approx. Theory III*, Niš, 1987, (ed. G.V.Milonvić), Univ. Niš, 1988, pp311-328.
- [8] Ying Guang Shi, On some problems of P.Turán concerning L_m extremal polynomials and quadrature formulas, *Journal of Approximation Theory*, **100**(1999), 203-220.
- [9] Ying Guang Shi, A solution of problem 26 of P.Turán, Sci. China, 38(1995), 1313-1319.
- [10] Ying Guang Shi, An analogue of problem 26 of P.Turán, Bull. Austral. Math. Soc., 53(1996), 1-12.
- [11] Ying Guang Shi, General Gaussian Quadratue Formulas on Chebyshev Nodes, Advances in Mathematics (China), 27:3(1998), 227-239.
- [12] J.Szabados, On the order of magnitude of fundamental of Hemite interpolation, Acta Math. Hungar., 61(1993), 357-368.
- [13] P.Turán, On the theory of mechanical quadratue, Acta Sci. Math. (Szeged), 2(1950), 30-37.
- [14] P.Turán, On some open problems of approximation theory, *Journal of Approximation Theory*, **29**:1(1980), 23-85.
- [15] Leetsch C. Hsu, Xing-hua Wang, Examples and methods in mathematical analysis(in chinese), Higher Education Press, 1983.